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chosen depends on the school. A student from the first school
will be chosen with probability 5=, from the second with

oy 1 . . oy 1
probability 1555, and from the third with probability z5;-
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P1 = 15-
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Question a) In scheme A all 1000 students have the same probability
(ﬁ) of being chosen. In scheme B the probability of being
chosen depends on the school. A student from the first school
will be chosen with probability 5=, from the second with
probability Tloo' and from the third with probability Floo' The
probability of chosing a student from school 1 is p; - ﬁ, thus
p1 = %0' Similarly we find py = % and p3 = %



